KT RFHMY

T

ERoN’ ATRD

B35 S RIE M ER6841

6841:55400  6841NI:SUS304
6841
R FRET

N
- "2
c 7 Im \\/. S
@) B N s
N N
. /
~. ./
BR~F%

e A B C D E F G H 1@®H ' J K L M N@EH | O
6841-0 65:330 16 45 13 16 - 12 i M10X1.0 10 16.0: 25 6.5 M 4x0.7 :12~20
6841-1 8.0:445 20 45 20 20 160 15 : M12x1.5 16 195 30 : 7.0 M 4x0.7 : 12~20
6841-3 12.0 68.0. 32 65 30 30 30.0 25 M20x1.5 22 425 60 13.0 M 8%x1.25 22~35
6841-5 16.0 81.5: 40 1 85 : 50 : 35 :29.5: 30  M24x1.5 25 46.0: 65  16.0  M12X1.75 30~50
6841NI-0 | 65:330: 16 45: 13 16 : - 12 MI0OX1.0: 10 :16.0: 25 = 65 M 4x0.7  12~20
6841NI-3 [12 69 32 65: 30 30 295 25 M20X15: 22 425: 60 13 ‘M 8x1.25 22~35

W&

e ne EEHKN SREEXEEXKE (8F) LRXEE Eikg
992366 6841-0 0.8 M 4X0.7 %20 66 X 47 0.07
992367 6841-1 1.0 M 4X0.7 X20 91 x 60 0.13
992368 6841-3 25 M 8x1.25%35 140 %110 0.45
992369 6841-5 45 M12X1.75X50 171.5%126 0.88
992370 6841NI-0 0.8 M 4X0.7 %20 66 X 47 0.06
109483 6841NI-3 25 M 8x1.25%35 140 %110 0.45

L1
|1§;£m56893

http://www.nabeya.co.jp



